
118

MX-F

MX-I

LX-3 

LX-4 

SX-1

SX-2

SX-3

SX-5

UX

SXE-2

SXE-2R

SXE-3

SXD

SXW-1

SXW-2

Segment construction Sandwich construction

SXE-3 SXD SXW-1 SXW-2SXE-2 / SXE-2R (with return)

Disk construction

MX-F LX-3 LX-4MX-I

SX-1 SX-2 SX-3 UXSX-5



119

    

MX-F, MX-I, LX-4, SX-1, SX-2, SX-3, SX-5, UX                                             LX-3 

SXE-2, SXE-3, SXD

SXW-1, SXW-2 



120

  

   

   MX-F MX-I  

25 mm3 (= 0.025cc)

45 mm3 (= 0.045cc)

75 mm3 (= 0.075cc)

105 mm3 (= 0.105cc)

 

i

ii

iii

iv

M10x1
inlet

2
3

5

M
1

0
x

1
 o

u
tl

e
ts

50

1
7

7 5

1
6

4
5

2
5

4
5

7
5

Ø 5 3

Ø 10

22 4 14 75

5

3
0

1
1

5

Ø
 5

3

5



121

  

 

i



122

  (Proximity Switch)

Control Pin Indicatori    Visual Stroke Controlii 

Pressure Indicator Nipple Outlet

i

ii



123

  

   
 

 
 

LX-3 LX-4 
 

 

Inlet Outlet

Middle element

Initial element

End element

Piston

element

Ø
 6

,4

A“ ”

6

16 25 M10x1
outlet

1
8

2
0

6
0

14 75

M
1
0
x
1
 i

n
le

t

1
5

3
0

23 5 14 75 23 5

1
6

5 2
3

8

7
4
,2

B“ ”

inlet
M10x1 outlets

M10x1

O-rings
outlets
M10x1



124

  

   
 

 
 

SX-1 
 

 
 

 

SX-2 SX-3  
 

 
 

SX-5 
 

 

 

 

 

24 85 19 7 19 7

3
2

5

15 19 7 19 719 7

Ø
1
5

G
1
/8

 i
n

le
t

Ø
1
5

G
1
/8

o
u

tl
e
t

1
5

4
0

ca.
11 5 6 B“ ” ca. 11 5

A“ ”

Ø
 6

6
0

Ø 6

1
9

Visual
stroke 

control

Screwed into the distributor inlet:
pressure indicator (not pressurized)

Screwed into the distributor 
outlet: pressure indicator
(pressurized)



125

  

   

   UX  

  

 



126

  

   
  

 
SXE-2, 2R SXE-3  

 

 

 

 



127

  

   

   SXD  

 

 

 

 

47 5 29 6 29 6

Inlet

Outlets G 3/8

68

3
0

5
9

76

33

15

29 7 29 6 49 7

A“ ”

B“ ”

C“ ”

3
4

Ø
7

Ø
 2

3

G
 3

/8

S
X

D
 

M
6

2
0

Metering

code number

S
X

D
 

M
2

2
0

S
X

D
 

M
4

0
0

Distributor

outlets

Metering element

Initial element

Middle element

End element

Distributor

inlet

Metering code

number



128

  

   
  

 
SXW-1 SXW-2  

 

 

 

 

Metering elements

Distributor

inlet
Connecting plate

Distributor

outlet

Metering

code number


